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<satellite_system  ntc_id=“ID value”  sat_name=“satellite system name”>
<pfd_mask	mask_id=“ID value”
low_freq_mhz=“low_freq_mhz value”
high_freq_mhz=“high_freq_mhz value”
type=“type value”
a_name=“latitude”
b_name=“name of angle b”
c_name=“name of angle c”>
<by_a	a=“1st a value”>
<by_b	b=“1st b value”>
<pfd	c=“1st c value”> 1st pfd value </pfd>
<pfd	c=“2nd c value”> 2nd pfd value </pfd>
<pfd	c=“3rd c value”> 3rd pfd value </pfd>
…
<pfd	c=“N1th c value”> N1th pfd value </pfd>
</by_b>
…
<by_b	b =”jst b value”>
<pfd	c=“1st c value”> 1st pfd value </pfd>
<pfd	c=“2nd c value”> 2nd pfd value </pfd>
…
<pfd	c=“Njth c value”> Njth pfd value </pfd>
</by_b>
</by_a>
…
< by_a	a=“ist a value”>
<by_b	b=“1st b value”>
<pfd	c=“1st c value”> 1st pfd value </pfd>
<pfd	c=“2nd c value”> 2nd pfd value </pfd>
…
<pfd	c=“Nkth c value”> Nkth pfd value </pfd>
</by_b>
…
<by_b	b =”jst b value”>
<pfd	c=“1st c value”> 1st pfd value </pfd>
…
<pfd	c=“Nkth c value”> Nkth pfd value </pfd>
</by_b>
</by_a>
</pfd_mask>
</satellite_system>

